
S p i n n a k e r  c r a n e  o p t i o n  /  O p t i o n  f e r r u r e s  d e  s p i n n a k e r

Part number / Reference
Descritpion 
Désignation

Lenght 
Lg 

(mm)

Diameter 
Diamètre 

(mm)

Masheads 
body 
Tête 

de mât
Complete crane 

Ferrure complète
Crane only 

Ferrure seule

30016 10 0945 
(with 3 nuts A4 M6 + 3 screws M6x20) 
(avec 3 écrous A4 M6 + 3 vis M6x20)

3001510 0944 Single / Simple 94 ø 10 N°4

30016 12 0945 
(with 6 nuts A4 M6 + 6 screws M6x20) 
(avec 6 écrous A4 M6 + 6 vis M6x20)

30016 12 0944 Double 94 ø 12 N°3

30016 24 1505 
(with 6 nuts A4 M6 + 6 screws M6x20) 
(avec 6 écrous A4 M6 + 6 vis M6x20)

30016 24 1504 NDouble°3 150 ø 24 N°6 / N°3*

30016 12 1325 
(Complete with 2 padeyes with 8 nuts 
A4 M6 + 8 screws M6x20) 
(Complète avec 2 cadènes avec 8 
écrous A4 M6 + 8 vis M6x20)

30017141324 Double - Reinforced 
Renforcée 132

ø 12 padeye 
cadène ø 12 

ref 30018120004 
x 2

N°6 / N°5*

n Choose the part number of the 
spinnaker crane option with the 
masthead body (see below)

n Choisir le type de ferrure de spi 
selon le modèle (N°) de tête de mât 
(voir ci-dessous)

/ 17

ø

L

w w w . s p a r c r a f t . c o m

Reinforced crane 
(here complete with its 2 padeyes) 
Ferrure renforcée 
(ici complète avec ses 2 cadènes) 
Ref. 30017141324 

Ref. 30016241504

Ref. 30015100944

Ref. 30016120944

*occasional use / utilisation occasionnelle

N°6

N°3

N°4

N°5


